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(#8-1) A solution of Pb(OH); is slightly basig
a. Pb(OH) +HiO © Pb%* + H;0"!

(&) Pb(OH), < PH* + 201
C. Pb(OH), +H:0™ < Pb** + H;O"
d. Pb(OH), + H:0 < Pb* + 20H:

(#8-2) A can of soda has a pH of 3.0. Which
I. Quantity of H* ions > quantity of H>O mol
II. [H']ions> [OH']ions
I, [H]ions = 1.0 E-3M %
a. lonly

b. Tand IIonly

(#8-3) Which of the following acids could ne

(#8-4) Which of the following is true when ¢
HCl

I. They are the same pH. M e
II. Both can neutralize the same quantity of t

I1I. The Ka for HF is less than the Ka of HCIL.

a. lonly
b. TandlIl only

(#8-4) Two acid samples (HA & HB) of equa

ecules +JG

5. Which of the foll
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of he following is tque?

i
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¢. Iland III onl
d. L IIand Il

Acid HA: Ka=1.8E-4 Acid HB: Ka= Very large

1. A0.1M sample of HB hasa pH of 1. _’\{435

11. Both acids are considered strong i 2

HI. HB will be able to neutralize more base then HA.

#

B Tand T only

¢. II and OI onl
d. LTI, and ITI

Vomit has a pH of 2.0 and soda had a pH of B.5.
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(#8-2)

a. What is the concentration of H;O* in vomit? -

b. What is the pOH of soda?
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c. Student hypothesis: If vomit and soda have the same concent]
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I concentrations and equal volumes.
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bwing reactions is producing this pH?

of 0.1M HF solution vs a 10.0mL of 0.2M

ration they will have the same pH. Justify or
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d. The model below is of a sample of soda.

7. (#8-3) Hydrofluoric acid is a notorious acid.
for it notorious behavior.
Justify or nullify the following statements
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It was highlighted

;} justify. (#8-3)

in several movies (Saw VI and Breaking bad)

a) HF is dangerous because it is a strong acid. . , D
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b) The bond in H—F is stronger than the bond in HnCI
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Calculate the percent dlssomaﬁon of Hydmﬂuoric acid (Ka = 1.8E-5) n each of the following
solutions.
All the following question must be correct for this point? (#8-4)
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a) Write the hydrolysis reaction for HE e Hoo 1 iy W
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b) Write the equilibrium expression for this acid. +& ™ 7 FuE]
c¢) Write the hydrolysis expression for the conjugate of acefic acid? | £, 5:53@, + g = g‘{g ﬁ‘é‘?’r .
D abizh
d) Will the conjugate be acidic/neutral/ basic? explain.
s
e) Write the equilibrium expression for the conjugate. » | , - iAo T
Lok 3%27; Ly oW, Ty R
: e ¥ = 1w S ETe v
f) What is the Kb? .
1.4
h) What it the pIl of this solution 1. 00 M
9. Lactic acid in a muscle can cause a burnmg sensation. If a .15M solution of lactic acid is 2.0% jonized

What is the Ka for lactic acid? (#8 4)




